Applications of Mathematics National 5
Container Packing Exam Questions
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The tins are packed in boxes.

Each box has dimensions 60 cm x 40 cm x 15 cm as shown below.

f Store this way up %

60cm

]15cm
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The boxes must be packed into containers for shipping to Canada.
The container has the internal dimensions shown below.

260cm

240cm

All the boxes must be aligned in the same direction.

(c) Calculate the maximum number of boxes that will fit in the container.
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. Russellis a lorry driver for a mail delivery company.
The mail is packed into cages which are then loaded on to the lorry.
His lorry has two levels for fitting cages.
Each cage has wheels on the bottom and must always be loaded upright.

The dimensions of the cage and the internal dimensions of the back of the
lorry are shown in the diagrams.

(2) What is the maximum number of cages that can be loaded into the back
of the lorry?
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Freddie and Kamal work in a warehouse stacking shelves.
Asection of the warehouse has 5 shelves; each shelf is 10 metres in length.
The shelves are currently stocked as shown below.

Shelf 1 | BoxA (7m)

Shelf 2 | Box B (5m)

Shelf 3 | Box C (6m) Box D (3m)
Shelf 4 | Box E (4m) Box F (3m)
Shelf 5 | Box G (2m)

A new delivery of Box H (6m), Box | (5m), Box J (3m), Box K (4m),
Box L (1m) arrives to be stored in this section of the warehouse.

These new boxes need to be stored on different shelves from the existing
stock.

The existing stock can be re-arranged to create space for the new delivery.

By writing the letters A to L in the diagram below, show how Freddie and
Kamal can fit all the boxes onto the shelves.

(An additional diagram, if required can be found on Page eleven)
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